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QUESTION 1
Which one of the following statements about the Requirements Management phase is true?

A. All requirements fed into the phase are prioritized, and those of low priority are deferred until the next iteration of the
ADM cycle

B. The phase generates the requirements for a given ADM cycle using the Business Scenario technique

C. The phase manages the flow of requirements, storing them, and feeding them in and out of the relevant ADM
phases

D. The phase operates like a waiting room, and all requirements fed in to the phase must be resolved by the end of the
current ADM cycle

E. The phase resolves the requirements that are fed into it from the other ADM phases

Correct Answer: C

QUESTION 2

Which one of the following is responsible for the acceptance and sign-off of an Architecture Compliance review?
A. Architecture Board

B. Architecture Review Co-ordinator

C.CIO

D. Lead Enterprise Architect

E. Project Leader

Correct Answer: A

QUESTION 3

Which of the following is an objective of Phase B, Business Architecture?

A. To confirm the ability of the enterprise to undergo change

B. To demonstrate how stakeholder concerns are addressed in the Business Architecture
C. To develop a Target Technology Architecture to support the business

D. To finalize the Architecture Vision and Architecture Definition documents

E. To maximize the business value from the architecture

Correct Answer: B

0OGO0-091 PDF Dumps | OG0-091 VCE Dumps | OG0-091 Braindumps 2/6


https://www.pass2lead.com/og0-091.html
https://www.pass2lead.com/og0-091.html
https://www.pass2lead.com/og0-091.html

P 2L d https://lwww.pass2lead.com/og0-091.html
aSS ea 2023 Latest pass2lead OG0-091 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 4

According to TOGAF, Which of the following best describes an Architecture Pattern?
A. A detailed description of the interfaces between building blocks

B. An implementation specific solution building block

C. A package of functionality defined to meet the business needs of the organization.
D. A way to put building blocks together into context

E. A work product describing an aspect of an architecture

Correct Answer: D

QUESTION 5

What level of the Architecture Landscape provides a long-term summary view of the entire enterprise?
A. Capability Architecture

B. Operational Architecture

C. Segment Architecture

D. Strategic Architecture

E. Tactical Architecture

Correct Answer: D

QUESTION 6

Which of the following statements best describes risk management in the ADM?

A. Risk analysis is best conducted in the Architecture Vision phase so that the risk is eliminated in subsequent phases
B. Risk analysis should be carried out first in the Migration Planning phase

C. Risk analysis is outside the scope of enterprise architecture projects

D. Risk is pervasive in all enterprise architecture activity and should be managed in all phases of the ADM

E. The only risks that are within the scope of enterprise architecture are technological risks

Correct Answer: D

QUESTION 7
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Which of the following does TOGAF describe as a package of functionality defined to meet business needs across an
organization?

A. An application

B. An architecture viewpoint
C. A building block

D. A deliverable

E. A solution architecture

Correct Answer: C

QUESTION 8

Complete the sentence. TOGAF 9 Part Il provides techniques, such as developing principles and gap analysis, to
support tasks within the

A. Architecture Capability Framework
B. Architecture Continuum
C. Architecture Development Method
D. Architecture Landscape
E. Architecture Repository

Correct Answer: C

QUESTION 9

Which one of the following best describes the purpose of the Communications Plan?

A. To ensure that architecture information is communicated to the right stakeholders at the right time
B. To evangelize the architecture to the end user community

C. To keep the Architecture Review Board informed of changes to the architecture

D. To ensure that the outcomes of a Compliance Assessment are distributed to the members of the Architecture Review
Board

Correct Answer: A

QUESTION 10

In the Solutions Continuum, Which of the following is the correct order of Solutions from most-specific to most-generic?
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A. Common Systems, Foundation, Industry, Organization-Specific
B. Organization-Specific, Industry, Foundation, Common Systems
C. Foundation, Common Systems, Industry, Organization-Specific
D. Industry, Foundation, Common Systems, Organization-Specific
E. Organization-Specific, Industry, Common Systems, Foundation

Correct Answer: E

QUESTION 11

Which of the following best describes Requirements Management within the TOGAF ADM?
A. Reviewing business requirements

B. Addressing and prioritizing architecture requirements

C. Developing requirements that deliver business value

D. Validating requirements between ADM phases

E. Managing architecture requirements throughout the ADM cycle

Correct Answer: E

QUESTION 12

Which one of the following statements about TOGAF Building Blocks is true?

A. Building blocks at a functional level are known as Solutions Building Blocks

B. Solutions Building Blocks are selected in Phases A, B, C and D

C. The specification of a building block should be loosely coupled to its implementation
D. The gap analysis technique should be used to identify building blocks for re-use

Correct Answer: C

QUESTION 13
Which of the following best describes TOGAF?

A. An abstract framework for the development of standards and processes for a business architecture B. A collection of
components organized to accomplish a specific set of functions

C. A process model, best practices and assets to aid production, use and maintenance of enterprise architectures

0OGO0-091 PDF Dumps | OG0-091 VCE Dumps | OG0-091 Braindumps 5/6


https://www.pass2lead.com/og0-091.html
https://www.pass2lead.com/og0-091.html
https://www.pass2lead.com/og0-091.html

P 2L d https://lwww.pass2lead.com/og0-091.html
aSS ea 2023 Latest pass2lead OG0-091 PDF and VCE dumps Download

—— https://Pass2Lead.com

D. A reference model containing taxonomy defining terminology for an enterprise architecture, together with an
associated graphic

E. A system development lifecycle method for software engineering

Correct Answer: C

QUESTION 14

TOGAF uses a version numbering convention to illustrate the evolution of the Baseline and Target Architecture
Definitions. Which version number in this convention indicates a high-level outline of the architecture?

A. Version 1.0
B. Version 0.9
C. Version 0.5
D. Version 1.5
E. Version 0.1

Correct Answer: E

QUESTION 15

Which Architecture domain is recommended to be the first architecture work undertaken in the ADM cycle?
A. Application Architecture

B. Business Architecture

C. Data Architecture

D. Technology Architecture

Correct Answer: B
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